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MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The difference between compound interest and simple
interest for two years on a sum is Rs. 54, find the sum if the
rate of interest is 6% annum.

TH AR TR &l 91 & 1%’112 Tqeh g TSl 3R ATYRUT AT & ST

T 3R 54 U T, i ST BT S 6% Ufday g, df AT J1d
aﬁ|

Rs. 12000

Rs. 18000

Rs. 21000

Rs. 15000




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Narendra borrowed Rs. 32,000 from a bank at the rate of 5%
per annum, after 3 years, how much amount he will have to
deposit if the sum is compounded annually?

RS TP db T 5% Thdiy Tol, Uiday bl 22 T 32,000 3T
YR A1 T, 3 IV §1¢, IS A B a1 =0 T Jaiferd fHa
ST 8, a1 39 fhat I 57 BT g2

37,044
36,800
37,800

37,104
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A circular park has a circular path of a width of 4 cm around it.
If the ratio between the area of the outer and inner circle is
169 : 81, then find the diameter of outer circle.

U JAIHR UTeh & IRI 3R 4 YHI BT A18T5 HT TH JAIHR Y
g | e TTERT 3R SMIdAN® gd & &AHd & ard Bl ST 169 :
81 B, dl ST8XI g BT T J1d DI |

25 Ht
24 9l
23 ut
26 Ht
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Find the smallest number should be multiplied by 864 to
make a perfect cube number.

T8 TaH S I Hiford frgeh! 864 H UM B TR Th YUl

g T UG 2

d

gl

None of these



MM@,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO cODE : E06321 /
If two cows and three horses cost Rs. 4,000 and three cows

and two horses cost Rs. 3,500, how much does a cow cost ?

T 3R A 9181 BT Hed 4,000 30 3R dH T 31

IR G
&l 9I8! &1 Hed 3,500 39T 8, TP 19 BT Hed foha-T 67
Rs. 1,500
Rs. 1,000
Rs. 500

Rs. 2,000
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Find the largest 4 digit number that is divisible by 8, 15, 16
and 20 exactly.

4 3P| DI YGY TSI SAT J1d Ditord Sif 8, 15, 16 3R 20 A

quld: fauT=g g1

9920

9981

9972

9840
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Three numbers areinratio4 : 7 : 11 and their LCM is 4004.
Their HCF is

i AT, 4:7: 11 & JUIT H § 3R 3791 agaq JAIad
4004 g | ST HETH JHTIIAD T 57

11

13




Mmé,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

'SpaceX' began a space project with $ 85000. After some
time, seeing a profit another company 'Blue Origin’ join the
project with $ 51,000. If the profit at the end of the year are

divided in the ratio of 5 : 1, then for how much period does
Blue Origin join?

WIURT $ 85000 & Ha & 1Y T 3fdRel RIS =
HRA1 ¢ | TB THT I18, TH P ¢d gU, TH 3= HUAT &
RS $ 51,000 & Ty TR | A gict g1 afc a8 &
AT Y 5 : 1 & 3gurd H fqvriora fowam omar §, o & 3fiikfom
forat erafy & forg =il giar 82

4 months

6 months

9 months

8 months



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

A crate of fruits contains one spoiled fruit for every 30 fruits. 30% of the spoiled

fruits were sold. If the seller had sold 48 spoiled fruits, then the number of fruits
in the crate that are not spoiled.

Bl o Ueh I H Y 30 Tl H Y Ueh R1d hdd ¢ | WR1d gU Hdll H 3 30%
o QU U] Ifc fachdl 4 48 W Bd &4 4, dl SIh T WRId ol gU Bl DI G=Al
GG

4640

4000

4300

4200




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Taps A can fill a tank 7 times faster than tap B.If both the taps opened together
and they fill a tank in 5%hours.Find the time taken by tap B to fill the tank

alone.

T AFd B &I qaH1 | 7 71 doll J TP Sl WR Idhdl g, dfe aFl 9d U a1y

Ged ¢ 3R A 5 6 H TP bl WRA G DT HRA
JHY J1d DU

SRIRIEI

[T 3{hdl 7 B GIRT |

42 hours

7 hours

6 hours

35 hours



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The marked Price of an saree is Rs. 400. Two successive discounts of 10% and
15%, are given on its marked price. Then find the selling price of saree.

Ud ot Bl Sifbd Hed 3. 400. 5P 3ifdbd Ted TR 10% 3R 15% B &l AN
©¢ ol ofldl g | dl rol @l 9y Ted Td HIfTT|

Rs. 350

Rs. 306

Rs. 300

Rs. 380




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

X P dg -AdH HH 1 ¢ o fb 2x5472, 9 I faH=Y gl SIv|
What is the least value of x, so that 2x5472 is divisible by 9.

7

0




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Ratio b/w age of Rita and Sima is 2 : 5, and the sum of their ages 84. What is
the difference of their after 3 years?

3T SR AT DI 311 DT ST 22 5 €, 3R ST MY H1 AN 84 §1 3 I dlg
3T 3[R T 5?2

72

36

o4

40




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

A man, rowing a boat, covers a distance of 21 km in 7 hours downstream. He
covers (1/3)rd distance in same amount of time when rowing upstream.
Calculate the speed of the stream.

U Al 19 9dld gU, YR & 3dhd 7 °c H 21 fhdl df g1 79 ®dl g1 98 YR
& Ulddd 19 Idld U Gl D (1/3)d HIT DI GHE 0T H d8 Hdl o | YRT I I
PHIUEAT DI 1 km/h

4 km/h

5 km/h

7 Km/h




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Suresh travels to office at a speed of 30 km/hr and on his way back, he travels
at a speed of 45 km/hr. Find the average speed of the whole journey?

AR B I 3R 30 fhHI/EeT BT e I AT DRl & 3R a1 Siid 9 98 45
[opHi/EieT I are I AT Bl | UL AT B S d1d 1 BT ?

36 fh i
40 fhdi/der
30 fh /el
33 fdhdi/Eer




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

A can do work in 4 days and B can do the same work in 5 days. The contract for
the work is Rs. 9000. What will be the share of B if they will work together?

A4 el § th &1 H IHdi g 3R B 34t &1 &1 5 feAi § 2 gbdl o | H1H Pl
3{4d¢ 9000 3T g | AlE d fHABR H1H B dl B DI (g8 T GRI?

4000

5000

1000

4500




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & Use PROMO CODE : E06321 /

Thevalueof (2+ 13 +32-11) x4 + 64 is:

206

218

208

202




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The length of the rectangle is 25% more than its breadth and the area of the
rectangle is 125 cm?, find the perimeter of the rectangle?

3{Id &1 ddlg 9| dlsls I 25% 3(¥® § 3R Id B &Fhd 125 THI2 &,
3ad Dt gRIY J1d Difor?

25 cm

35 cm

45 cm

55 cm




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The sum of two numbers is 26. Their L.C.M and H.C.F are 84 and 2
respectively, find the difference of these numbers.

&l JBATSHT DT ARTHd 26 5| DT AYdH FHUGA 3R HgdH JHUddD hH: 84
3R 2 &, Al 37 JB=ATA] BT 3R A1d HIor |

4

2
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In the arithmetic progression series 11, 16, 21, , what will be the
20" term?
gic FHIaR 90l 11, 16, 21, g, dI it @1 209 Ug 1 g2
104
106 104
108 106
110
108

110




